I[HoOynyiiTe MaTpuiio i rpad 1Jis BiZHONIEHHSI BU3HAYEHOT0 HA MHOKUHI

BapianTu 3aB1aHb
A={1,2, 3, 4}, axmo R ={(11),(L2),(13),(23),(33).(4,2),(4,4)}
A={1,2,3,4}, axkmo R ={(11),(13),(2.2)(2,3),(3.2)(3.3),(4.)), (4,4)}
A={1,2,3, 4}, AKIIO R =1{(11),(L2)L4),(2.2),(2,3),(32),(4.1),(4,4)}
A={1,2, 3,4}, axmo R={(12),(2,2)(2,3),(2.4)(31)(3:3).(4.1),(4.2)}
A={1,2,3,4}, Km0 R={11),(12)(1L4),(2,2)(2:3),(24)3,2),(41),(44)}
A={1,2, 3,4}, axmo R={11),(14),(2,2)(2,3), 31)(3:3),(4.]),(43)(4.4)}
A={1,2, 3,4}, axmo R ={11),(®2),(13),(2.3),(33).(4,2),(4,4)}
A={1,2,3,4}, akmo R ={(11),(13),(2,2)(2,3),(3.2)(3.3),(4.]), (4,4)}
. A={1,2,3,4}, AKIO R ={(L1),(12)(L4),(2.2),(23),(3.2),(4)),(44)}
10. A={1,2, 3, 4}, sxmmo R={12),(2,2)(2.3),(24)(31)(33),(41),(4,2)}
11. A={1,2, 3, 4}, AKII0 R ={(11),(1,2)(L4),(2,2)(2.3),(2,4)(3.2),(4]), (4,4)}
12. A={1,2, 3, 4}, sxmmio R ={(11),(L4),(2.2)(2,3),(31)(3.3),(41),(4,3)(4,4)}
13. A={1,2, 3, 4}, sxmo R ={11),(12),(L3),(2.3),(33),(4,2),(4,4)}
14. A={1,2, 3, 4}, axmo R ={(11),(13),(2.2)(2,3),(3,2)(3.3),(4.),(4,4)}
15. A={1,2, 3, 4}, K110 R ={(11),(L,2)(L4),(2,2),(23),(3,2),(41),(4,4)}
16. A={1,2, 3, 4}, axmo R={12),(2,2)(2,3),(24)(31)(373),(41),(4,2)}
17. A={1,2, 3, 4}, 9K110 R ={(11),(1L,2)L4),(2,2)(2.3),(2.4)(3.2),(4,),(4.4)}
18. A={1,2, 3, 4}, sxmio R ={(L1),(L4),(2.2)(2:3),(3)(33),(41),(4,3)(4,4)}
19. A={1,2, 3, 4}, sxmo R ={11),(12),(L3),(23),(33),(4.2),(4,4)}
20. A={1,2, 3, 4}, axmo R ={(11),(13),(2,2)(2,3),(3,2)(33),(4),(4,4)}
21. A={1,2, 3,4}, aK10 R ={(11),(1,2)(L4),(2,2),(23),(32),(41),(4.4)}
22. A={1,2, 3, 4}, sxmmio R ={(12),(2,2)(2,3),(24)(31)(33),(41),(4,2)}
23. A={1,2, 3, 4}, K110 R = {(L1),(L,2)L4),(2,2)(2,3),(2,4)(3,2),(4,)), (4.4)}
24. A={1,2, 3, 4}, sxmmio R ={L1),(L4),(2,2)(2:3),(31)(33),(41),(4,3)(4,4)}
25. A={1,2, 3, 4}, axmo R ={1L1),(L2),(13),(2.3),(33),(4.2),(4.4)}
26. A={1,2, 3, 4}, axmo R ={(11),(13),(2.2)(2,3),(3,2)(33),(4.1),(4,4)}
27. A={1,2, 3,4}, K10 R ={(11),(L2)L4),(2,2),(23),(32),(4)),(4,4)}
28. A={1,2, 3, 4}, sxmo R={12),(2,2)(2,3),(24)(31)(33),(41),(4,2)}
29. A={1,2, 3, 4}, K110 R = {(11),(L,2)L4),(2,2)(2.3),(2,4)(3.2),(4,1),(4,4)}
30. A={1,2, 3, 4}, sxmio R = {(11),(L4),(2,2)(2,3), 31 (3.3),(4.]),(43)(4.4)}
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